—_

012141002

M 63 o] = R R A AR b B e AR T RS
e 560 IEI4i%ﬁ%?&?@/\ﬁiﬁjﬁ/\ﬁ*ﬁi%ﬁHODjﬁ
e OFesEE K K F ®’OE OB O A

YJ«:SUL TS

H B SERk224 5 H 28 B (4) 481 10 B BiHiBALA
5H29H (1) 48710 K BiHBi4h
5H30H (H) w710 K B BHA

B BT SERERAPES - LS (241010
T  —HERESEFEREEER
=N TR A T S
g _—_HEHRH#AFEXAER
+E  —#HRE L i%% % W =
—EREE R E e



a7 4 v a ViER

S5 mE —— b v I BHE /Nl BASC
Bk E L] BTEXEAE WA #HER
EREHE FoH vH BEREH R DS GIAE. TN
BT £ PR i (C) T (00) T 7] THO% (m/5) T Bt
2010/05/28 10:00 [ 20.9 47.0 It 4.6 i

11:00 i 20. 8 47.0 I 4.8 ks &)
12:00 5 21.1 46. 0 Jkik 3.3 i
13:00 B 22. 6 45. 0 JbdevE 1.2 Wi
14:00 5 22.6 44. 0 Jedbs 3.1 B
15:00 & 22. 8 45. 0 Bl lo] 1.3 B
2010/05/29 10:00 i 22. 6 46.0 EE[ER 1.7 it
11:00 i 22. 1 47.0 B 1.9 ks &)
12:00 5 22.8 47.0 ik 1.4 B
13:00 i 22.5 45.0 Hb A 2.6 ks &)
14:00 5 22.5 44. 0 e 1.5 B
15:00 i 22. 6 42.0 ElE[FR 0.9 ks &)
16:00 5 22.7 42.0 ElE[AL] 0.3 i
17:00 & 22. 1 50.0 U o1 0.7 B
2010/05/30 10:00 B 20. 5 62. 0 EE[ER 2.5 it
11:00 B 21.7 61.0 JbdevE 0.5 Wi
12:00 5 21.5 60. 0 Ik 1.6 i
13:00 B 21.5 62. 0 P AL 3.0 ks &)
14:00 5 20. 6 63.0 [ 2.2 i
15:00 | 20.5 63.0 i) 2.0 By

1/1




HER—E=R
SHERTHISNXRRE. FMBRIEUTOEBYTT,

BEs4 BERXEBAFECEzESFARELGRAREFEAS=ZERPRES

-1 H 2010/5/28~30
K EERAMEBE K
08 _
No. & B K
0 F = 3.k sa6s % i@ e
1 ZF100mH HER 14725(+1.2) gt E=x % 4
AP oE A
o8k _
No.
0 g2 H 3.k sa5s K4 i3 =
1 BF1500m R 3’55738 b EE 8T
2 BF¥5000m R 14’ 26797 hf EE 5T
2 EFES B R 4m90 £R BA AXEE
3 ZF100m P 11778(+1.1) FiE InH M AT
4 ZF200m R 24743(+1.1) Pk HE mETHE
5 ZF100mH R 14725(+1.2) gt E=x £ 4
6 TFOYH R 46m83 7 4 A FARLERE




S

*

L 20104F5 H 28(&)~5H30H(H) K FRAQ B IS 63 E1 A2 [E A i e E IR AR S HIR TS Kezm—K 10241002 7w rENRE i 5L3C
& N . HEF63ME] = H R AR BB R RS | =R (1) < 5 7
R 4 ke EFER a—K24 MMRK 60 = F IR &S PR AR E Rk L oMW BCEHFHE A ¥
FAEFRA4 SERESEIRAEER - —ERE EHE RS A 65 E RIS E RSBE Fiti s BB HENE fnm i
WETFHNE  KTAEIL
B4 ZERERA B b LR = —R 241010 o = M bk BA
BFOH
A £F FEH i 2fL 3hL IfL 5L 6L T 8L
spzop|  100m TR RRAERRR 2 10.89 |3 BHEE (3) 10.98 |75 1AL 1) 11.03 | B 4E RHN (1) 11.04)i#JF BE& (3) 11.06|J5H  Eik 2) 11.09|#ER H-F (3) L34 =44 (3) 11.23
&:0.0 |F4T SR BT = 4 EREELE] fn £ 4 UEHT
spzon|  200m AW 2 22.41 | B A KRR (6] 22.91(H  fEbEE 2 22.94(7FK BAEE (3) 22.95 |4 1P %= 2) 23.01|f2pk 508 (3) 23154 A& (3) 23.18| /My A& (3) 23.23
l:-2.8 |4 T 4 P T S R 4 L AT ExE
shosil 400m PR 2 49.55([LilFF FA 2 50.17 |kt U (3) 50.25 Rl & (3) 50.63 (/K% (2) 50.70(AiTH X (1) 50.78 (AR H & (3) 50.83 | HK (3) 51.03
R WEHT AT 4 iRV EZ e EHT FiR L HRE JIl A
saoonl s0om TE ZRih 3 1.55.76 |7 It 3 1.57.19| PG5 L HEA (6V) 1573511 &% (3) 1.59.27 |4t &H— (3) 1.59.49 )57 e (2) 2.00.58 |74 (L 2 2 2.02.66 [Fi1)Il  5F ) 2.06.38
H P & M BT = # H = & BT FI5 1L P
sazeE|  1500m PR RS (3) 3.55.38|H11l B (3) 3.58.09| /0% kst (2) 4.03.53 [BRJ A 2 4.03.70 75 0 JEF (3) 4.04.93 | B (2) 4.06.12|FHHE M (3) 4.06.75|(LH % (3) 4.09.13
BT GR| -5 T. S BT H EREIELE] I 5
sa%08|  5000m R RS (3)  14.26.97|H)I| B (3)  14.43.62|hNiE st 2 15.17.13| L AR R (3)  15.19.36 |/ L= (3)  15.28.97| =f =W (2)  15.41.65[LH xR (3)  15.45.68|¥EHL A5 (3)  15.47.83
BT GR| -5 T. S BT H o NGL i o NGL
sposn| 110mH BUR FHn 3 15.39 (1A &5 @ 15.48[f M & @ 15.56 | 7K B JEK 3 15.57 [f& 3 1&h (3) 15.66 %4 [ Koff (6] 15.75 (fEfE M (3) 15.93[4L)1 #h3 (3) 16.04
J:+1.7 [EKER AT & M P4 A EE 3 FI5 1L P H H
saeonl 400mi PR PEE 3) 54.04 (M FES 3 54.24| %M 1&H] 3 54.63 [ HK 3 55.86 [ AFt fdA 3 55.96 |t (&) 56.27|#% FHE (3) 56.62 |2 3 57.73
BEfE H R FI5 1L P JII & M H R v HOR
sh29n| 3000mse M i (3) 9.33.95 V7K THHE (3) 9.34.28| = EMH 2 9.41.16| =4 ¥ (3) 9.43.49 8 Fil (3) 9.47.52 e TEAst (3) 9.48.98|HA HE (3 9.55.07 [itF = fid (2 9.56.77
AL T TR HopE 4T U H He P T
sA300| 5000mW BA it (3)  25.13.68|7H B (3)  25.16.77| 7RI ¥ (3)  25.17.76|H L fEE (3)  25.28.98|MjEE (3) 25.31.000i & (3)  25.31.17\1lA IERE (3)  25.31.20 | H A KER (2)  27.01.88
& M e L £ iRV B fa 2 EC) Horg
4T 41.78|FiRILHRE 42.23 |84 T 42.30 |34 42.44(U AT 42.69 | H 42.76 |Fid e 43.02 | EHE 43.13
efk 5L (&) W BRE 3 Rt 3 o (&) M FH 3 NGB @ FiA TEA 3 Al Hik 3
5A29H|4 X 100mR | g {2t ) NI o)) W b @) o o 3 Hm b 3 AT & 3 R S 0 ik HEHE 3
LAWY @ JA F G 3 LY S Y (&) kR — @ Him =h (&)} JHi A 2 xR Fall 3 WK BREE 3
fosE "4 (2) Mk B (3) WiE kR (3) Tk Bhik (2) A ERR (1 AK A (3) S B R (2 PN (3)
4T 3.22.59 | H 3.23.54|U A T 3.23.59 IR 1L HpE 3.23.69|F#T 3.25.43 | A 3.27.41 |7 3.28.18|Fi/E 3.28.19
iz B ) HiE e 3 AT A n W BRE 3 W b ) i (&) ikt R— ) T 3
5430H|4X400mR [/ Hht (2) A (3) S 1 (3) [Eme Fnx (1) WA R A (3) m BESR 3) o ok (3) )R Fak 3)
fesE " @ S ) L 28 A ) FRE EF (&) A (&)} [ (&)} TEAT Bhbk ) K B (&)
A VN (2 K A (3) FHET (2 A 3) A (3) = X 3) HA N (2) il Al (1
spoon| &k g ) 1m89|Ze il Mk 3 Im86| I #hi& 3 1m86| A #7355 @ Im83|PEH ik n Im83| 1% & 3 Im83|fAA A=z &) 1m80| A KAk @ 1m80
S BT 9 H e P H EREIELE] R (P4 F 1 BEfH
shoon|  HeE B %'ﬁ' ﬁ)\ 3 4m90 zﬁjm fuﬁ% @ 4m40| A T 3 4md0|it = 3 4mOO|#& T Bt @) 4moo |k & (3) 3m80|7E [ HEIE 0 3m70[w i @ 3m70
N GR|IT K& BEfH 5 AT EREIELE] EREILELE] 5
ek R (3) Tm13|1L=E BK 2 6m99| 11 s (3) 6m97 |k EE (3) 6mb5| A Fiik (3) 6m62| M H 7 (1) 6m61| K (3) 6mb5| IR H-F (3) 6m52
5A28H| GEIERE | SESFALEE (+3.40)| =H:FZ4 T (+2.4)| =H:H 2 *2.)| = E g E (+2.5)| =H: 5 P (+3.4)| = HE AL (+1.8)| ZH I K (+4.6)| =—H: R 4 (+2.2)
AFR6mT5+1.6 ANFR6mT2+1.7 INFR6mT3+0.4 TSR L INFR6mB4+1.4 INFR6mA4+2.0 A6m45+2.0
B =7 (&) 14md7|K¥ 3 3 13m87 |l JoH 3 13m69 |k R 3 13m61 | =) 5 3 13m57 &S FEF @) 13mb54|lim #z2 &) 13m43(iliZE B @ 13m36
5A30H| —ERBE |H K (0.7) | K i HE (+2.2)|F & (-1.0)| iR 1L HRE +1.3)E K& +LDpEKEE (+2.4)|FE 5 +1.4)|F4 T (+1.9)
AFR13m62-3.7 AFR13m06+1.9
sH300 L |EFA OEK (3) 14m75|/MH (3) 14m62 |38 7] LA (3) 14m56| M Rl (3) 14m31 | AL FH KW 2) 13m50|EEAF A (2) 13m26| & Foth 2 13m17| B4 M 1) 13m03
(6.0kg) |FEIHILFHPE fa 2 AT A {154 o NG EREELE] P 5 1L P
sH290 PR | PR O 2) 44mb5| M Rl (3) 43m49| =AF B FH] (6V) 41m4d |/ B (3) 40m97 [Fr)Il FH (3) 40m80 [JA AR 2 40m72 A KAgt (6] 40m37|FAF S (1) 39m45
(1.75kg) [T KEH A {154 fa 2 fa 2 P T fa 2 A {7154 EREELE]
SHo8 0 A e P Y NI PN 3 58m10|fHE fFER @ 51m18| M JH @ 4Tm75|8 fEEL @ 46m19|PEH K& 3 45m63| H bt i @ 44m85| AR /Al 3 44m60|#h A K=} 3 43m74
(6.0kg) |FEIHILIHPE AT EREEELE] & 1L P T & H R H
spson| w0 AN 55 3 54m71|HPE KE 0 51m28| &% /A Wl 3 50m74| KB K 3 50m73|gnA HES} 3 50m57|BRA K (3) 49m23|VEF s (3) 48m51 /N R 3 47m80
fa 2= i e H R & 1l H FI5 1L P N = &
W SE (3) 4591 | A AR B EM (3) 43648 |08 0 fiF 1) 43398 |00 o (3) 4329 87 [ S (3) ATT R AT e 2) 4158 [ A3 A 2) 4137 R\ 2 (1) 3846 4%
51298 | )\ gmaerr R AT FIH 1L HPE IR E R 5 P & A R T 9B
~30H i} 12.05(+1.9)-6m03(+2.1)-10m10-53.94 |12.20(+1.0)-5m54(+0.5)-9m82-54.51 [11.35(+2.1)-6m02(+1.0)-7Tm85-52.44 |12.22(+2.4)-5m95(+1.5)-10m37-56.55 [11.50(+1.3)-5m85(+1.8)-8m59-53.51 [11.80(+2.1)-5m26(+0.1)-7Tm57-54.51 |12.15(+1.3)-6m05(+1.7)-7m15-54.33 [11.91(+2.4)-5m35(+1.4)-6m90-53.98
16.83(0.0)-47m55-1m55-4.52.57 [16.75(+1.3)-40m39-1m75-5.13.62 [17.43(+1.1)-33m61-1m50-4.56.24 [17.29(+0.3)-44m74-1m65-5.12.49 |18.94(+1.3)-39m43-1m50-5.02.00 |16.50(+1.2)-40m78-1m60-5.14.36 |18.10(+1.1)-29m35-1m75-4.55.51 |19.30(0.0)-29m79-1m50-4.37.98
7o DER| 8T 38| FEAT 29| %M 23| T 1947 | S5 i B 1647l BT 16,5 | FI8 1L A g 165 | HEPS 145
et 7 o—a ko | 528 L g 31 [T K EE 27| T 25 51 |FRZE 195 |H8% 1A [ 105 | SR 5 5 9.5 [FE 5L 84
WA DO |55 1L E g 51| 3T 49 45 (K EE 4755 BB T 35| FAT 34457 | SRR = 25 4% |/ 23| faE 21 4,

JUl GR:K&FCEk




S

*

L 20104F5 H 28(&)~5H30H(H) “ K FRAQ B IS 63 E1 A2 [E A i e E IR AR S HIR TS Kezm—K 10241002 7w rENRE i 5L3C
HEF63ME] = H R AR BB R RS | =R (1) < 5 7
R 4 ke EFER a—K24 MMRK 60 = F IR &S PR AR E Rk L oMW BCEHFHE LR ER
FAEFRA4 SERESEIRAEER - —ERE EHE RS A 65 E RIS E RSBE Fiti s BB HENE fnm i
WETFHNE  KTAEIL
B4 ZERERA B b LR = —R 241010 o = M bk BA
KFOH
H£F FEH Th% 20 30 AL 50 6 7T i
sqopn| 100m i HEAT 2) L1788 Weds 2) 12.01)i+ % 2) 12.22 [BTER #1- (3) 12.25|46)11 B4 (3) 125253 A& 2) 12.57 |/~ 7 (3) 12.65|1 4L &S (3) 12.67
L :+1.1 |PU A RS GR|FiH 1L RS 4 B i P4 B g EREELE] P4 B g e
spaon| 200m (i e ) 24.43 (KGN ez @ 24.80i+ ®E ) 25.38[4b)11 A (&) 25.96 (¢ M 3% @ 26.07 (77 F AT 3 26.25 |54 AURk 3 26.37 |2 & TR 1 (&) 26.45
L :+1.1 |PU A RS GR|FiH 1L RS x4 P4 B g EREIELE] JIl 4 H
shosil 400m SERE DRk (3) 58.37[fAA Mk (3) 59.50 |2 /A R 26 (3) 1.00.24| A1l "% (3) 1.00.73|Hi A Fnfde % 2) 1.00.91 (8 #h (3) 1.01.29 (M #EA (3) LOL3T[BIHR FH1 (1) 1.02.16
4 EREIELE] P4 B g % 4 5 = & Y B ivg EREIELE]
saoonl 80om AN S| (3) 2.18.05| =i ZEJ)y (3) 2.18.27|5FF HE (6] 2.19.22|4bkf HiiAy (3) 2.19.39|H T AnfES 2) 2.19.40 [l H T 2 2 2.19.45| %M & 2) 2.25.33 | AR WAL T 1) 2.26.77
E] 5 4 (P4 F[5 5 BT U B g 4
saosnl 1500m S B 1 4.39.52 k] T-5 &) 4.40.09 | AR AL+ 0 4.44.63| =i ZEJy 3 4.45.58 | &y 2 4.46.55 (854K FH 2 4.46.92 (A HEFLID 1 2 4.49.60 [FEAS EPL (3) 4.52.41
4 B P % 4 5 FiR L HRE HOpE 8T ]
sasonl 3000m DA = (2 10.01.56|8A A& (3)  10.20.56 ARSI T (2)  10.21.62|/vbk  FFn (3)  10.22.05|7EM Ak (3)  10.24.19|ka4: (2)  10.26.97|[ M #%EJy (2)  10.33.35| MDA 3 (3)  10.35.96
B P 5T 5T e ] 5T FiR L HRE FiR L HRE
sposn| 100mH it EE &) 13.93[&) l|&A>4a @ 14.89 [ Hifl (2) 14.92 /L fEF (6V) 15,15 R4&%E n 15.20 {238 (3) 15.24 (V6 M #R3E (2) 15.28| 0 7 2 15.37
F:+2.2 |3 4 4 EREIELE] BEfH EREIELE] P4 B g EREIELE] I
saoonl 100mi [LUNG eSS 3 Lo477| Wil ¥ 3 1.06.75|A)I "% (3) 1.07.14|FAF #hi7 (3) 1.07.15 |3 Liig 3836 @ 1.08.91 | 1LiA FEAH] (3) 1.09.15|85AK L (&)} 1.10.47 | i 2t (3) 1.10.59
P4 B g = & B FI5 1L P PR fhoF H O JIl
sas0nl 3000mw [Z N (2)  15.21.01 | O£ (3)  15.44.35|%7%8 PEY- (2)  15.56.85| 1L AkTYbE (3)  16.04.38|# 07 (3)  16.09.56 | AT AFL% (2)  16.37.38|H)IUD (3)  17.22.05|)1% F£Z (3)  19.42.85
43R & M tyhat'7 H O P4 B i 9 4% A SRR T I B %
FIH 1L HPE 47.65|0Y A 75 48.16 |34 49.00(PY A 7 49.65 |H:pH 49.74 | 2B 50.21|P4 H i vE 50.73( )11k 50.92
AT HHE 3 NI n Ak bk (&) TR W3 3 A KR 3 FhEET @ L e A (&) WA i1 3
5290 (4 X 100mR |/ Bz ) g By 2 PSS ) 5B Hi At ) LS| 3 o BE (1) H T 3 TFET 3
TH % (2 INIEEAN 3 1173 @ BT 1 3 Wt B 3 s Hit- (&)} BE HER 3 I P (&)}
SFEORE (2 Pl R (3) OEEE o JIE it (2 E RS (2 N REE ) B RN (3) fAs ik (2)
FiRILHRE 3.55.18|34 4.00.68 (VU A 75 4.02.47 |34 4.06.68 (VU A 7 4.08.93(0U A HivE 4.09.00 {111 4.12.77| =& 4.16.74
AR B ) EsylIp S 3 il R (&) ik 7 (&) R #1 3 BE HER (&)} TF ET (&)} mii v 3
54301 (4 X400mR |FAA  3fEME (&) it EE ) NGRS (&) =M OB 3 & Ft @ ik e A (&)} g e (&)} hEE b (&)}
I ez ) S K n (LI S EEE S ) ik FEE o TR B Hi At ) & EEEN 3 I P 3 K¥E i 1
SFEORE (2 SR Rk (3) [N =ES] (3) H O FfEEZS (2 Tk 3 (3) g 3) B REK (3) ENEZE (3)
EIE SR BTV, ) 1m62| Rl Eib 2 1m59 AT R LR (3) 1mb56 |#2 Bk B4 (3) 1m56 W OEftE (2 1m56( 78 XK 2) 1m53
o |FAPRPE SiwNE FE LR fa 2= FIH 1L HEPE BEH
5A30H | AEBk —
S 3 1m59 [ 3 1m56
4 fa 2
Kl K& 3) 5m70| 2Rk i 3 5m39| A EH 0 5m36|3E M 3k @) 5m36| 1L P (3) 5m29 |l 1 3 5m29|/h L #ER (6] 5m24 (A HET- (2) 5m21
5/28A EWBE |UTREH (+3.29|A J& (+3.8)|F= 15 1L RS (+5.2)| iR 1L HRE (+4.7D)|FiRIL A (+4.3)|m B T (+0.5) | = 45 (+3.0) | $HKE & (+2.7)
AFE5mM41+2.0 AFEB5mM22+1.3 AFRRLERIRL AFE5mM28+1.5 AR AF84m99+1.9 INFRRLERIRL
T AL | R E R (3) 11m96|/NEF Hx% (3) 11m36| R SLfR 2 11m31 | B4 (3) 10m99|E N ks (3) 10m70 |4yt Ut 2 10m61 RS ME (3) 10m39| AT 7 2 10m38
(4.0kg) |F& 2 = EREELE] E] EREIELE] A IERT fa 2= fhoF
5H290 (RE:E S5 S S (3) 40m17 |4 AEPL (3) 36m94 |HERE  ME (3) 35m66 | LM F (3) 35m37 K 3k (2) 34m89|HE & (3) 34m74 (AR SR 2 32m59| B Bl (3) 32m58
(1.0kg) [H: P4 UHTHT fa 2 B2 EREELE] I EREIEELE] 4
sps0n| 0 w4 H 2 46m83 | A EA (3) 43m57| M R 2 42m62 [l x5 2 40m97 M EHIK 2 3BmIS|ER (3) 38md5 | AR (3) 37m65 YAy V% 2) 36m83
EREEELE] GR|FiH 1L RS H P fa 2 U B g 4t H P A IEAT
AR B 2) 4037 (A E )Y 2 37555 | W B (6] 3747 (M EA& (2 3678 [fmil AR (3) BMAVR|E D 35 (3) 3251|F  BFE (3) 3153A NI 2) 3054 5%
SN | femer FIH 1L HPE FIH 1L HPE BEE 74 B TG B % FIH 1L HEPE FIHILH &
~29H . 15.27(+2.1)-1m35-7m79-25.91(+1.0) |16.53(+1.9)-1m40-7m99-28.21(+2.1) [15.83(+1.9)-1m48-8m37-26.89(+2.1) [17.24(+2.1)-1m30-6m91-27.68(+1.0) |17.15(+2.1)-1m40-7m18-28.13(+1.6) [17.72(+2.6)~1m30-10m72-29.11(+1.6) [17.23(+2.1)-1m20-7m78-28.65(+1.0) |17.87(+1.9)-1m30-9m39-28.66(+1.0)
5m29(+2.4)-26m63-2.44.11 5m03(+2.4)-31m02-2.45.10 4m53(+1.3)-27m19-2.55.37 5m08(+1.4)-37m39-2.45.10 4m51(+1.5)-23m62-2.38.18 4m18(+0.2)-28m63-2.56.36 4m43(+0.6)-29m44-2.53.58 3m96(+1.2)-22m80-2.52.95
S EZ 55 | FiR LI HpE 41|04 A HiRE 3T EEPS 28 53|t 154 BT 1| H T 843 |4 B vH 641
FHoRt| 7 — RO | TR L RS 298| faE 165 | HEPS 1348 K 10.5 4 | FABK g 65| PU H T LA ST —H 548
A D |FIa 1L Mg 824 |FA 59.5 4% |0 H i pd 425 [HEpE 4R RRE 16457 | {73 154 | =8 15| EHT 118

JUl GR:K&FCEk






